Please visit our YouTube chanel for all the set up videos at: http://www.youtube.com/user/wheelstandpro

Page 3

Thrustmaster HOTAS WARTHOG mounting holes

o o

Place your throttle on the left plate and joystick on the right plate and drive 4 Allen screws (M5x16) with 4 (M5) cups to fix it firmly.
Scan QR code to see set up video

SAITEK X55
mounting holes

8 o o 8
O O O O
e} e} O [e]
o o o ¢) o ¢)
¢ [¢) ¢) o
[¢) [¢) ¢
@) @) @] @]
[e] [e] o
Place your SAITEK X52/PRO throttle and joystick on the main plate Place your SAITEK X55 throttle on the left plate and joystick on the right plate
and drive 4 conical screws (M4x55) with 4 washers(4) and 4 (M4) cups to fix it firmly. and drive 4 conical screws (M4x55) with 4 washers (4) and 4 (M4) cups to fix it firmly.
Scan QR code to see set up video. Scan QR code to see set up video.

i SAITEK X-65F Thrustmaster T.Flight Hotas 4
mounting holes mounting holes
0 [ [ 0
@) @) @] @]
e} o o ¢}
[e] e} [e] o o o
¢} o [e] [e]
o o o
O O O O
[¢) [¢) o
Place your SAITEK X65F throttle and joystick on the main plate Place yourThrustmaster T.Flight Hotas 4 throttle on the left plate and joystick on the right plate
and drive 4 conical screws (M4x55) with 4 washers (4) and 4 (M4) cups to fix it firmly. and drive 4 conical screws (M4x25) with 4 washers (4) and 4 (M4) cups to fix it firmly.
Scan QR code to see set up video. Scan QR code to see set up video.

www.wheelstandpro.com



	Strona 1

